[N of simulated tracks vs dxy(PV) ]

N of associated tracks (simToReco) vs dxy(PV) ]

0 7] P S
<@ o
S =
£ 3
2 E
4 [%)
Q j=
E o
= 3
@
2 ! ! 2
: WHHHWM\H'\HH :
o I | @x
I || m - T
09¥95-20-15-10 -5 0 5 10 15 20 25 0S5 iE i 50 510 15 30 25
TP dxy(PV) (cm) TP dxy(PV) (cm)
—=— DQM_mkFit_baseline
—e— DQM_mkFit_baseline6iter
[N of sim] —— DQM_mkFit_TT_Retrainv2_WP2_iter_ep3
1] 1J
Q@ o
S =
£ :
2 E
= %]
[5] c
S Q
= 3
x
LOf--derbonshee i b
o+l : .u :
: "!HHLHW””*”\HWHHH\HU’HWEHHH”=\WH”‘ R
i il i i il
AT ""H MALEL
ek H H| il ||”|| ‘ L LR I 0
0204 0.8 ~-1-0.8-0.6-0.4-0.2 0 0.2 0.4 36 08 1
TP dxy(PV) (cm) TP dxy(PV) (cm)
[N of simulated tracks vs dz(PV) ] [ Nof associated tracks (simToReco) vs dz(PV) ]
[} F [
<2 r . o -
s : FoL
5105?"""""""""'. """""""""" 3
2 f o s |
] [ : 2
g 10°F S 10°F
= E o} F
E e F
10° .
10?
: : 10%f:
10 : : E
1 1
0 h h + o v
g :
04 . 14
; ; G s
=30 -20 -10 0 10 20 30 0’—50 -20 -10 0 10 20 30
TP dz(PV) (cm) TP dz(PV) (cm)
[N of simulated tracks vs dz(PV) ] [N of associated tracks (simToReco) vs dz(PV) ]
[%] E 2 -
K4} E o
L =
F
2 E
x [%]
Q c
IS S
= 3
i3

Ratio

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


